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— 2
3. The graph of the function f(z) = z 23 i; ? has:
T

T ,
one vertical asymptote /}( CX %XA’Q (correct)

(b)  two vertical asymptotes XQ)Q ‘\_‘

(c)  three vertical asymptotes )

(d)  no vertical asymptote \\\1\[\ 7\7_, LK. AL

(e)  has vertical asymptotes atz = 0 D\ \ = 00

!yg: _ O Lo -y (xx0)
BRRASENYy

4. Use the graph to find ¢ such that if 0 < |z — 1| < §, then |f(z) — 2| < 0.5
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a:2+x4.

7. The horizontal asymptote(s) of f(z) = — s (are):
x J—
—1 (correct)
(b 1 — j l —
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9. If f(z) = { ;“g: —+ca:x ;f i ; 5 is continuous everywhere, then ¢ =

v
@ ? \\W\ CeXxxex) =4 C 1 &y
o 2 > > T
c) -1 >
of e <i-ac
(e) 1

“4ex+4 =8§-2C

gi\Y\/\\\MJ( 0
Hishs  (E= )

10.  Which of the following functions f has a removable discontinuity at a

) and (III) only (correct)
) and (II) only
I) only
), (II) and (III)
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5h) —
11.  Let f be a differentiable function such that f’(a) = 4, then ’lll_I)I(lJ fla+t 2/1 f(a) =

12.  Let f(z) = az® + br + 1. Assume that f(1) = 2 and the tangent line to
the graph y = f(z) of f at the point (1,2) has the following equation:

y=3x+ 2, then 7a+ 11b =

?8 S%& \> o ;\3 R \E
27 7[&\) :\\w\ ’(;(X)R
; — |

Now Adih —2 | :\\\/\/\ @xl*\)x*\)b(q%%)
A4b 41 =3 and M }
= a=2 = @x —a) 4 (bx -b)
=—\ A
S THa) 4 -y | = \\\f\/\ C\QXL“-B AY\‘DQX"S
14— aad an

= | \’\_)W? a(a) 4 b —\—@
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13.  Let f be the function defined by L{ ( 6) _)\5 (
2

{ 2z + b if < -2

> +ax+3b, if :v;—2 ’\3[“/

If f is differentiable at £ = —2, then 4a + 5b =\~

D 36D :;g\;\ H0 <, Fod
(d) 23 a
| +3L

e -Jeo >L+¢r> _PHD >Z§;§\§)}+&

b=2
(a) if PLI(II f(:c) exists but QILI_I)% g(:c) does not exists, then :lvl_I}(ll [f(CC) + g(:c)] does not exist
(correct )
(b) If glgl_g% f(.’L) = 2and :1811)% g( ) = 0, then hm fgxi may exists
(c)  If neither }3151(11 f(z) nor lim g(2) exists, then hm [f(z) 4+ g(z)] does not exist
(d) If h—l;rili (f(:v)g(a:)) exists, then the limit must be f (3) (3)
(e) 1 lim f(z) = lim g(z) = oo, then lim (f(z) — g(z)) =0
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15. Let y = f(z) be a function such that
(i) f(0) = f'(0) =1
(i) f(2) =f(2)=0
(i) f(1) = -1
Which of the following graphs could be the graph of y = f(z)?

) graph (
) graph (
) _graph (c)
) (
) (

graph

graph
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